
Mekanik

Lektion 1
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r→ = r r̂ =>
d r     dr dr–– = –––·r +–––·rd t     dt         dt
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r̂ = cosQ x + sinQ yˆ ˆ

Q̂ = -sinQ x + cosQ yˆ ˆ

d!r
dt =− sin θ θ̇"x+ cos θ θ̇"y

d!r
dt =− sin θ θ̇"x+ cos θ θ̇"y =
= θ̇[− sin θ "x+ cos θ "y] = θ̇%θ
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d r–– = r r + r QQd t
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d r     dr dr–– = –––·r +–––·rd t     dt         dt

→ ˆ
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r̂ = cosQ x + sinQ yˆ ˆ
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dt =− sin θ θ̇"x+ cos θ θ̇"y

d!r
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= θ̇[− sin θ "x+ cos θ "y] = θ̇%θ
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As correctly pointed
out by a student
during the lection, 
the formula

a = – w2·R·r

is not applicable in
problem 5 because the
motion of the particle
is not “likformig”. For 
example, in problem 5, 
Q ≠ 0

→ ˆ

··


